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Question 1

Factorise the following completely :

(@  x?+8xy+15 (b) x?T-x-42 (¢) 2x2 4+ 7x +3
(d)  5x2-22x+8 ()  20-3x-9x2 ()  x2-252
(@ 48a%—3 0 a+ab+b+l () a®—b2+3a+3b
Question 2
Simplify the following :

1542 _ 8ab’c _* 2c2 (L) 2 (g@) -
@ S * T3 X5 ®) babexl50e) + 5

x2+2x-24  x24x-6 x2—1, x2+3x+2
(©) 3x-6 x2_x-12 ) x—1  x2_x_¢

1 a 3 1 x+1 x+4

©) 1—a+a—1 @ x2-9 3-x (&) x+3 x+2
Question 3

(a) Make x the subject of the formula in each case :

(i) y= :——ig (iii)

(i) ax+by+c=0
(b) Solve these simultaneous equations for x and y
@ x-3y=10 (i) 3x-2y=22

x+4y=6 2x+y=10

axl+bx+c=0
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(¢) Solve these quadratic equations :

i) 2 =x+10 (if) 7v=34--38

(d) Using the quadratic formula, solve the following to 2 decimal places.

- 2 10vaf— D) dvad) =L
(i) 3xc—-10x+6=0 (11),\(.1+2)—2
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Question 1 (20 marks)
(@ x+3)x+5) ¥

(b) r=Nx+6) ¥

(©) Qx+ D(x+3) ¥

(d) r=H(x-2) v

(€) (9% +3x-20)=—(3x+5)(3x—-4) ¥
=(3x+5)4-3x) v

B r=Sy)x+5y) ¥

(g) 3(16a*-1) ¥
=3(da+ @da-1) v

(h) a(l+b)+1(h+1) ¥
=(a+1)(b+1) ¥

(i) (a—b)a+by+3@+b) ¥

=(a+b)a~b+3) V¥

Question 2 (14 marks)
@ 16a’c? ,

5z%
O
(© £ v
(d) x~3 v
©) l}-aﬂlga Y
N
O e

202 +5)
® rneed

Question 3 (22 marks)
@ @) x="8*D

(ity yx+yb=x+a
w-x=yb+a v
xy-1)=yb+a

x ;'M v

y—1

: .02 _ 4
(b)) x=83, y=—3 ¥V
(i) x=6, y=—2 ¥ ¥
()(i) x=-20r3 vV

. 17+ /37
(i) x = 7

v v

(d) (@) x=2.550r0.78 ¥ ¥

(i) x=0280r-1.78 v ¥



